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सामाɊ िनदőश: 

I. Ůʲ पũ मŐ पांच खǷ अ, ब, स, ड और इ सİʃिलत हœ I Ůʲ पũ मŐ 39 Ůʲ हœ I सभी Ůʲ अिनवायŊ हœ।  
II. कोई समŤ िवकʙ नही ंहै। हालांिक, कुछ Ůʲो ंमŐ आंतįरक िवकʙ Ůदान िकए गए हœ। छाũ को ऐसे Ůʲो ंमŐ 

केवल एक िवकʙ का Ůयास करना होता है।  
III. खǷ अ मŐ 20 वˑुिनʿ Ůʲ हœ और सभी Ůʲ 1-1 अंक हœ I 
IV. खǷ ब मŐ 6 लघुउȅरीय Ůʲ हœ, िजनमŐ Ůȑेक के 2 अंक हœ। इन Ůʲो ंके उȅर 30 से 50 शɨो ंकी सीमा मŐ होने  

चािहए।  
V. खǷ स मŐ 7 लघुउȅरीय Ůʲ हœ , िजनमŐ Ůȑेक के 3 अंक हœ। इन Ůʲो ंके उȅर 50 से 80 शɨो ंकी सीमा मŐ 

होने चािहए।  
VI. खǷ ड मŐ 3 दीघŊ उȅरीय  Ůʲ हœ िजनमŐ Ůȑेक 5 अंक हœ। इन Ůʲो ंके  उȅर 80 से 120 शɨो ंकी सीमा मŐ 

होने   चािहए।  
VII. खǷ इ मŐ 3 केस आधाįरत Ůʲ हœ िजनमŐ Ůȑेक 4 अंक हœ।   

 
General Instructions:  

i. This question paper consists of A,B,C,D and E sections having 39 questions. All questions are 
compulsory. 

ii. All questions are compulsory. However, an internal choice is provided in some questions. A 
student is expected to attempt only one of these questions.  

iii. Section A consists of 20 objective type questions carrying 1 mark each.  
iv. Section B consists of 6 Very Short questions carrying 02 marks each. Answers to these questions  

should in the range of 30 to 50 words.  
v. Section C consists of 7 Short Answer type questions carrying 03 marks each. Answers to these  

questions should in the range of 50 to 80 words. 
vi. Section D consists of 3 Long Answer type questions carrying 05 marks each. Answer to these  

questions should be in the range of 80 to 120 words.  
vii. Section E consists of 3 source-based/case-based units of assessment of 04 marks each with sub- 

parts. 
 

खǷ- अ  / SECTION-A 

Ů.स./Q.
No. 

Ůʲ/ Questions अंक / 
Marks 

1 िवसरण की दर अिधकतम होगी : 

a.ūव मŐ                       b.ठोस मŐ           c. a और b दोनो ं                 d.गैस   मŐ 
 

The rate of diffusion will be higher in: 

a. liquids                    b. Solids          c. both a and b                   d. gases  

1 



2 सामाɊ İ̾थित मŐ जल को गमŊ करके जो अिधकतम तापमान Ůाɑ िकया जा सकता 
है,वह है : 

a. 100 0 C               b. 120 0 C               c.  0 0 C              d.120 0 C से ऊपर 

Under normal condition, the maximum temperature that can be achieved by 
heating water is : 

a. 1000C                b. 1200C                   c. 00C               d. above 1200C 

1 

3 सोिडयम तȕ का सही Ůतीक है : 
The correct symbol of sodium element is: 

a. Na                     b. Sa                      c. NA                         d. S 

1 

4 सोिडयम Ƒोराइड मŐ मौजूद आवेिशत कण हœ: 

a. ऋण आवेिशत सोिडयम आयन और धन आवेिशत Ƒोराइड आयन। 

b. धन आवेिशत सोिडयम आयन और धन आवेिशत Ƒोराइड आयन। 

c. ऋण आवेिशत सोिडयम आयन और ऋण आवेिशत Ƒोराइड आयन। 

d. धन आवेिशत सोिडयम आयन और ऋण आवेिशत Ƒोराइड आयन। 

The constituent charged particles present in Sodium chloride  are : 

a. negatively charged sodium ion and positively charged chloride ions.                               
b. positively charged sodium ion and positively charged chloride ions.  

c. negatively charged sodium ion and negatively charged chloride ions. 

d. positively charged sodium ion and negatively charged chloride ions. 

1 

5 अवपरमाणुक कण और उनका सही िनŝपण है : 
i.Ůोटान (P-)     ii.  Ůोटान (p+)     iii. इलेƃŌ ान (e+)   iv. इलेƃŌ ान (e-)   

a. i and iii      b. ii and iii        c. ii and iv          d. i and iv 

The subatomic particles and their correct representation is : 

i. Proton (P-)         ii. Proton (p+)        iii. Electron (e+)       iv. Electron(e- ) 

a. i and iii      b. ii and iii        c. ii and iv          d. i and iv 

1 

6 परमाणु संƥा 14 वाले परमाणु मŐ संयोजी इलेƃŌ ॉनो की संƥा है: 

The number of valence electron in an atom having atomic number 14 is: 

a. 2                   b. 4                   c. 8                     d.14 

1 

7 सामाɊतः  पादप कोिशका का केȾक, कोिशका के केȾ मŐ İ̾थत नही ंहोने का  कारण 
होता है: 

a. बड़े आकार की रसधािनयाँ  

b. कोिशका मŐ अपयाŊɑ ̾थान 

c. छोटे आकार की रसधािनयाँ 

d. इनमे से कोई भी नही ं
Generally,  Nucleus of the plants cell are not centrally located due to: 

a. large sized vacuoles 

1 



b. insufficient space in the cell. 

c. small sized vacuoles 

d. none of the above 

8 ज़œिथयम  और पाथőिनयम  उदाहरण हœ: 

a.कीटनाशक             b. रोग                       c. रोगजनक           d.खरपतवार  

Xanthium and Parthenium are examples  of 

    a.  Pesticides             b.  Diseases             c.Pathogens             d.Weeds 

1 

9 कौन सा संयोजी ऊतक नही ंहै: 

a.रƅ                      b. उपाİ̾थ               c. िचकनी पेशी           d. अİ̾थ  

Which is not a connective tissue: 

a. blood                     b. cartilage               c. smooth muscle             d. bone 

1 

10               Ȱिन तरंग की चाल (v), तरंग दैȯŊ (⋋) और आवृिȅ (ህ) के बीच संबंध है: 

The relation between speed (v) ,wavelength (⋋) and frequency (ህ ) of a sound 
wave is: 

a.  v =⋋ x ህ                  b. ⋋ = ህ x v              c. v = ህ / ⋋       d. ⋋ =  ህ + v 

1 

11 पशुपालन िकसके िलए िकया जाता है? 

i. दुƭ उȋादन मŐ वृİȠ।                          ii. मांस उȋादन मŐ वृİȠ । 

iii. कृिष कायŊ                                        iv. अंडा उȋादन  

a. i, ii और iii           b. i और ii              c. ii, iii और iv      d.i , iii और iv 

Cattle husbandry is done for :   

i. increasing milk production .             ii. increasing meat production. 

iii. agriculture work                           iv. egg production 

a. i,ii and iii                    b. i and ii              c. ii,iii and iv        d. i, iii and iv 

1 

12 ˢर (note) ह ै: 

a. एकल आवृिȅ की Ȱिन। 

b. कई आवृिȅ के िमŵण की Ȱिन। 

c. दो आवृिȅ की Ȱिन। 

d. सुनने मŐ अिŮय। 

Note is: 

a. a sound of single frequency. 

b. a sound of mixture of several frequency. 

c. a sound of two frequency. 

d. unpleasant to hear.  

1 

13 गुŜȕाकषŊण का सावŊिũक िनयम ʩाƥा नही ंकरता है: 

a. वह बल जो हमŐ पृțी से बांधता/खीचंता है । 

1 



b. पृțी के चारो ंओर चंūमा की गित 

c. चंūमा और सूयŊ के कारण ǜार 

d. ǜालामुखी उȥेदन। 

Universal Law of Gravitation does not explain: 

a. the force that binds us to the earth. 

b. motion of moon around the earth 

c. the tides due to the moon and the sun. 

d. volcano eruption.  

14 अंतराकोिशकीय ̾थान उपİ̾थत होता है: 

a. पैरेȱाइमा         b.कालेȱाइमा          c.̾Ƒेरेȱाइमा        d. एिपडिमŊस 
The intercellular space is present in: 

a. Parenchyma       b. Collenchyma       c. Sclerenchyma       d. Epidermis 

1 

15 जो एक ȕįरत गित नही ंहै: 

a.एकसमान वेग       b. İ̾थर वेग         c. a और B दोनो ं        d. वतुŊल गित         
Which is not an accelerated motion: 

a. uniform velocity                     b. constant velocity    

c. both a and b                         d. circular motion                        

1 

16 एक छाũ ने एक ɗाज को पानी मŐ आंिशक ŝप से डूबाकर रखा। कुछ िदनो ंके बाद 
उसने जड़ो ंको देखा, जो आकार मŐ बढ़ रही थी।ं इन जड़ो ंके शीषŊ पर उपİ̾थत ऊतक है : 

a. शीषŊ̾थ  िवभǛोतक                b.अंतिवŊʼ  िवभǛोतक   

c.पा Ŋ̫ िवभǛोतक                      d. a. और b. दोनो।ं 

A student placed an onion partially dipped in water. After few days she observed 
the roots, which grow in size. The tissue present on the tip of these roots is: 

a. Apical meristem                    b. Intercalary meristem 

c. Lateral meristem                   d. Both a and b . 

1 

Ůʲ संƥा 17 से 20 अिभकथन (A) और कारण (R) आधाįरत Ůʲ है।  

इनमŐ दो कथन - अिभकथन (A) और कारण (R) हœ I इन Ůʲो ंके सही उȅर का चयन नीचे िदए गए कोड (a), 
(b), (c) और (d) से करŐ : 
a) A और R दोनो ंसȑ हœ, और R  अिभकथन की सही ʩाƥा हœ। 
b) A और R दोनो ंसȑ हœ, लेिकन R अिभकथन की सही ʩाƥा नही ंहै। 
c) A सȑ है, लेिकन R गलत है। 

d) A गलत है, लेिकन R सȑ है। 

Q. no 17 to 20 are Assertion - Reasoning based questions.  

These consist of two statements – Assertion (A) and Reason (R). 

Answer these questions selecting the appropriate option given below:  

(a) Both A and R are true and R is the correct explanation of A  

(b) Both A and R are true and R is not the correct explanation of A  



(c) A is true but R is false  

(d) A is False but R is true 

17 अिभकथन (A) : जब Ůकाश की िकरण एक कोलाइड िवलयन से गुजरती है तो  

                      िटंडल Ůभाव देखा जा सकता है। 

कारण (R) : कोलाइड िवलयन के कण बŠत छोटे होते हœ लेिकन वे आसानी से   

                 Ůकाश की िकरण को फैला सकते हœ। 

Assertion (A): Tyndall effect can be observed when beam of light passes     

                         through a colloidal solution. 

Reason (R): The particles of colloidal solution are very small but can  

                     easily scatter a beam of light. 

1 

18 अिभकथन (A) : लाइसोसोम को कोिशका के सफाई तंũ  (Ƒीनर) के ŝप मŐ भी    

                      जाना जाता है। 

कारण (R) : लाइसोसोम मŐ मौजूद शİƅशाली पाचनकारी एंजाइम सभी काबŊिनक  

                 पदाथŘ को तोड़ सकने मŐ सƗम हœ । 

Assertion (A): Lysosomes are known as cleaner of the cell. 

Reason (R): Enzymes present in the lysosomes are powerful enough to  

                    Breakdown all organic materials.  

1 

19 अिभकथन (A) : एक तेज कुʥाड़ी आसानी से काटती है। 

कारण (R) : Ůणोद का Ůभाव उस Ɨेũ पर िनभŊर करता है िजस पर वह कायŊ करता   

                 है। 

Assertion (A): A sharp axe cut swiftly. 

Reason (R): The effect of the thrust depends on the area on which it acts. 

1 

20 अिभकथन (A): खरपतवार फसल के िलए हािनकारक हœ। 

कारण (R) : खेत मŐ अवांिछत पौधा फसल के साथ पोषक तȕ के िलए Ůित˙धाŊ    

                 करता है। 

Assertion (A):Weeds are harmful to the crop. 

Reason (R): Unwanted plant in the field competes for nutrient with the crop. 

1 

खǷ-ब/ SECTION-B 

Ůʲ संƥा 21 से 26 अित लघु उȅरीय Ůʲ हœ । 

Q.no.21 to 26 are very short answer questions. 

21 एक रासायिनक अिभिŢया के दौरान परखनली मŐ तापमान बढ़कर 303K हो गया। 

a. इस तापमान को 0 C ˋेल मŐ बदलŐ । 

b. इस तापमान पर पानी की भौितक अव̾था Ɛा होगी? 

During a chemical reaction the temperature in the test tube increased to 303K. 

a. Convert this temperature to 0C scale. 

2 





27 a. सम̾थािनक,समभाįरक से िकस Ůकार िभɄ होते हœ। 

b. सम̾थािनको ंके तीन अनुŮयोग िलİखए। 

a. How are isotopes different from isobars?  

b. Write three applications of Isotopes. 

3 

28 a. जंतुओ ंमŐ कोिशका के पास िकन-िकन  गैसो ंका आदान-Ůदान होता है? 

b.कोिशका को जीवन की संरचनाȏक एवं िŢयाȏक इकाई Ɛो ंकहा जाता है ? 

 

a. Which gases are exchanged at the site of the cell in animals?  

b. Why cell is called the structural and functional unit of life? 

3 

29 तंिũका तंũ की िŢयाȏक इकाई का नाम िलİखए। इसका नामांिकत िचũ भी बनाइए। 

अथवा  

रƅ को संयोजी ऊतक Ɛो ंकहते हœ ? इसके घटक Ɛा हœ? 

Name the functional unit of nervous system. Also draw its labelled diagram. 

Or 

Why blood is called connective tissue? What are its components? 

3 

30 एक बाइक िवरामाव̾था से चल कर 3 िमनट मŐ 36 िक.मी./घंटा का एकसमान वेग Ůाɑ 
कर लेती है। पįरकिलत कीिजए : 

i. ȕरण और      ii इस वेग को Ůाɑ करने तक बाइक Ȫारा तय की गई दूरी। 

अथवा  

एक बस गंतʩ ̾थान A से B तक 36 िक.मी./घंटा की चाल से याũा करती है और िफर 
वापस A पर 72 िक.मी./घंटा की चाल से लौटती है। पįरकिलत कीिजए 
(i) बस की औसत चाल। 
(ii) बस Ȫारा तय की गई दूरी यिद बस तय दूरी को 3 घंटे मŐ पूरा करती है ?   

(iii) बस का िव̾थापन । 

A bike starting from rest attains a uniform velocity of 36 km/h in 3 minute. Find: 
i. The acceleration and ii. The distance travelled by the bike for attaining this 
velocity. 

Or 

A bus travels from destination A to B with a speed of 36 km/h and then returns 
back to A with a speed of 72 km/h. Find 
       (i)   average speed of the bus. 
      (ii)  distance travelled by the bus if it takes 3hours to complete the    
             journey. 
     (iii)  displacement of the bus. 

3 

31 मंगल का ūʩमान 6.42x10 23 िक.Ťा. है और उसके एक चंūमा का 1.08x1015 िक.Ťा. 
है। यिद मंगल और उसके चंūमा के बीच की दूरी 1.01x105 िक.मी. है, तो मंगल Ȫारा 
चंūमा पर लगाए गए बल की गणना करŐ ।  ( G = 6.7x10 -11 Nm2kg-2) 
The mass of the mars is 6.42x1023 kg and that one of its moon is 1.08x1015kg. If 
the distance between the mars and its moon is 1.01x105 km, calculate the force 

3 



exerted by the mars on the moon. (G = 6.7x10-11Nm2kg-2) 

32 a. एक Ȱिन तरंग 346 ms -1 की चाल से गमन करती है । यिद इसकी तरंगदैƽŊ 1.8 
से.मी. है, तो तरंग की आवृिȅ Ɛा है? 

b. Ɛा उपरोƅ Ȱिन ŵʩ है ? ˙ʼ कीिजए । 

a. A sound wave travels at a speed of 346 ms-1. If its wavelength is 1.8 cm, what 
is the frequency of the wave?  

b. Will the above sound audible? Explain. 

3 

33 कृिष मŐ लाभ को अिधकतम करने के िलए अपनाए जाने वाले िविभɄ फसल पैटनŊ Ɛा हœ ? 
िकɎी ंतीन पर चचाŊ कीिजए। 

What are different cropping patterns adopted to maximise benefits? Discuss any 
three. 

3 

खǷ – ड / SECTION-D 

Ůʲ संƥा 34 से 36 दीघŊ उȅरीय Ůʲ हœ । 

Q.no.34 to 36 are long answer questions. 

34 i. िनɻिलİखत यौिगको ंके रासायिनक सूũ िलİखए। इनमŐ उपİ̾थत आयन ( धनायन  

  और ऋणायन) भी िलİखए । 

a.सोिडयम नाइटŌ ेट              b.अमोिनयम सʚेट       c.एʞूिमिनयम ऑƛाइड 

अथवा  

a.आयन Ɛा होते हœ? उदाहरण सिहत ˙ʼ कीिजए । 

b.İ̾थर अनुपात का िनयम बताइये। काबŊन डाइऑƛाइड यौिगक मŐ उपİ̾थत  

   ऑƛीजन और काबŊन का ūʩमान अनुपात Ɛा है? 

c. परमाणुता को पįरभािषत कीिजए। 

i. Write down the chemical formulae of the following compound. Also write the 
Ions(cation and anions) present in them. 

a. sodium nitrate         b. ammonium sulphate           c. Aluminium oxide 

Or 

a. What are Ions? Explain with examples. 

b. State the law of constant proportion. What is the ratio by mass of carbon and 
oxygen present in carbon dioxide compound? 

c. Define Atomicity. 

5 

35 एक Ůयोग के दौरान रीमा ने एक ūव मŐ कुछ िकशिमश रखी।ं कुछ देर बाद उसने देखा 
िक िकशिमश का आकार बदल गया है जैसा िक िचũ मŐ दशŊया 
गया है।  

a. उस िवलयन की Ůकृित /Ůकार Ɛा हो सकता है 

    िजसमŐ इन िकशिमशो ंको रखा गया था। इस पįरवतŊन का  

   कारण ˙ʼ कीिजए। 

b. Ɛा होगा है यिद हम इन फूली Šई िकशिमशो ंको चीनी के अȑिधक संतृɑ   

5(3+2
) 



    िवलयन मŐ रख दŐ  ? 

अथवा  

पादप कोिशका का ˢǅ नामांिकत िचũ बनाइए। ( कोई 6 नामांकन ) 
During an experiment Reema placed few raisins in a liquid. After some times she 
observed that shape of raisins is changed as shown in the 
picture.  

a. What could be the nature/Type of the solution in which   

    these raisins were placed. Explain the reason for this   

    change. 

b. What will happen if we put theses( swollen) raisins in a highly saturated     

     sugar solution . 

Or 

Draw a neat labelled diagram of Plant cell.(label at least six part) 

36 कारण बताईये: 

a. Ŝकी बस के तेज गित से चलने पर याũी िकस िदशा मŐ धſा महसूस करते हœ     
    या िगरते हœ । 
b. एक फीʒर कैच (गŐद लपकना ) पकड़ते Šए गŐद के साथ धीरे-धीरे अपना हाथ  
    नीचे या पीछे खीचंता है । 
c.समान वेग से गितमान एक टŌ क और एक कार के बीच िकसका संवेग अिधक   
   होगा। 
Give reason: 

a. In which direction does the passenger fall when a bus accelerates from   
    rest. 
b. A fielder pulls his hand gradually with the moving ball while holding a  
    catch. 
c. Which will have greater momentum between a truck or a car moving with  
    same velocity? 

5 

खǷ –इ / SECTION-E 

Ůʲ स.37 से 39 केस आधाįरत/डेटा आधाįरत Ůʲ हœ िजनमŐ 3 लघु उप-भाग हœ। इन उप-भागो ंमŐ से एक मŐ 
आंतįरक िवकʙ Ůदान िकया गया है 

Q.no.37 to 39 are case based / data based questions with 3 short sub - parts. Internal choice is provided 
in one of these sub-parts. 

37 िमŵण एक या एक से अिधक शुȠ तȕो ंया योिगको ंसे िमलकर बना होता है िजसे पदाथŊ 
कहते हœ। अवयवो ंकी Ůकृित के अनुसार िविभɄ Ůकार के िमŵणो ंका िनमाŊण होता है । 
अवयवो ंकी Ůकृित के आधार पर िमŵण कई Ůकार के हो सकते हœ , जैसे समांगी िमŵण 
और िवषमांगी िमŵण। 

i. एक छाũ ने परखनली मŐ 50 िम.ली. पानी मŐ अंडे के सफ़ेद भाग की कुछ बंूदŐ    

   िमलाईं। इससे परखनली के मŐ िकस Ůकार का िमŵण िनिमŊत होगा? 

ii. िनɻिलİखत को िमŵण और यौिगक मŐ वगŎकृत कीिजए : 

    रƅ , िमǥी, हवा, पानी, दूध, नमक 

iii. आप िनलंबन िमŵण िकस Ůकार तैयार करŐ गे ? 

(1+1+
2) 



अथवा  

iii. मोमबȅी का जलना भौितक और रासायिनक दोनो ंपįरवतŊनो ंका उदाहरण है। 

    समझाइए । 

 

Mixtures are constituted by more than one kind of pure form of matter, known as 
a substance. Depending upon the nature of the components that form a mixture 
we can have different types of mixtures i.e. homogeneous and heterogeneous 
mixtures.  

i. A student mixed few drops of egg white in 50ml of water in a test tube. 

   What type of mixture will be formed inside the test tube? 

ii. Classify the following into mixture and compound: 

     blood, soil, air, water, milk, common salt 

iii. How will you form a suspension mixture? 

OR 

iii. Burning candle is an example of both physical and chemical change.    

     Explain. 

38 एक खेल Ůितयोिगता के दौरान एक एथलीट बŠत तेज दौड़ता है और दौड़ जीत भी जाता 
है लेिकन िफिनिशंग लाइन पार करने के ठीक बाद उसके साथ दुघŊटना हो जाती है। 
मेिडकल जांच मŐ पता चला िक उसके पैर की हǭी टूट गई है और िलगामŐट(˘ायु) फट 
गया है। 

िनɻिलİखत के उȅर दीिजए : 

i.िलगामŐट (˘ायु) िकसे कहते हœ ? 

ii.मांसपेिशयां अİ̾थयो ंसे कैसे जुड़ी होती हœ? 

iii.Ɛा अİ̾थ एक संयोजी ऊतक है, इसकी संरचना के आधार पर उȅर दीिजए । 

अथवा  

iii. उस ऊतक का नाम बताइए जो अİ̾थयो ंके शीषŊ पर İ̾थत होता है और उनकी     

    िघसने और टूटने से रƗा करता है। यह ऊतक नाक और बाहरी कान मŐ भी   

    मौजूद होता है। इसकी दो िवशेषताएँ िलİखए। 

During a sport event an athlete runs very fast and wins the race but just after 
crossing the finishing line, he meets with an accident. During medical 
examination it is found that his leg bone gets fractured and ligament is teared. 

Answer the following: 

i. What is ligament? 

ii. How muscles are attached to the bone? 

iii. Is bone a connective tissue, answer on the bases of its structure. 

Or 

iii. Name a tissue located at the head of the bone which protect them from        
     wearing and tearing. This tissue is also present in the nose and outer ear.   
    Write its two characteristics. 

(1+1+
2) 



39 ऊजाŊ के िविभɄ Ůकार को एक ŝप से दूसरे ŝप मŐ ŝपांतįरत हो सकते हœ , तािक 
पįरवतŊन के दौरान या बाद मŐ एक Ůणाली की कुल ऊजाŊ समान रहे । िकसी वˑु के 
मुƅ ŝप से िगरने के दौरान इसकी İ̾थतज ऊजाŊ गितज ऊजाŊ मŐ पįरवितŊत हो जाती है । 

एक छाũ ने 20 िक.Ťा. ūʩमान की एक वˑु को 4 मीटर की ऊंचाई से िगराया और 
ऊजाŊ ŝपांतरण को नीचे िदखाए अनुसार सारणीबȠ िकया: (g=10ms -2 ) 

 

िनɻिलİखत Ůʲो ंके उȅर दीिजए : 
i. उपरोƅ İ̾थित मŐ ऊजाŊ ŝपांतरण िलİखए। 
ii.उपरोƅ İ̾थित मŐ वˑु की गितज ऊजाŊ Ɋूनतम और अिधकतम कब होगी? 
iii.A से D तक के मानो ंकी गणना करके उपरोƅ तािलका को पूरा कीिजए। 

अथवा  
iii . उपरोƅ वˑु की 6m की ऊंचाई पर İ̾थितज ऊजाŊ और गितज ऊजाŊ Ɛा होगी? 
Different form of energy can be changed from one form to another, so that the 
total energy of a system during or after the transformation remains the same. 
During free fall of an object its potential energy will change into kinetic energy. 
A student dropped an object of mass 20 kg from a height of 4 m and tabulated the 
energy conversion as shown below:   (g=10ms-2)  

 

answer the following questions: 

i. Write the energy transformation in above case. 
ii. In the above case when will the kinetic energy of the object is minimum  
    and maximum? 
iii. Complete the above table by calculating the values from A to D. 

Or 
iii.What will be the potential energy and kinetic energy of the above object at a  
     height of 6m? 

(1+1+
2) 

 


